Chapter 7: Describing Supply and Demand: Elasticities
Practice Problems KEY

 1. If average movie ticket prices rise by about 5 percent and attendance falls by about 2 percent, other things being equal, the elasticity of demand for movie tickets is about: 
A. 0.0.
B. 0.4.
C. 0.6.
D. 2.5.
Price elasticity of demand = % change in quantity / % change in price = 2/5 = 0.4. We conventionally give elasticity of demand as a positive number, which is why we used the absolute values of the numerator and denominator in the above equation (we have taken 2% instead of -2%).
  
2. If average movie attendance is 250 million tickets when prices are $7 a ticket and 200 million when prices are $9 a ticket, the elasticity of demand for movie tickets is about: 
A. 0.0.
B. 0.9.
C. 1.1.
D. 1.8.
Elasticity = [(250 - 200)/225]/[(9 - 7)/8] = 0.9. We state elasticity of demand as positive.
 
3. As the manager of a ski resort, you want to increase the number of lift tickets sold by 8%. Your staff economist has determined that the price elasticity of demand for lift tickets is 2. To increase sales by the desired amount, you should decrease the price of a lift ticket by: 
A. 2%.
B. 4%.
C. 8%.
D. 16%.
Price elasticity of demand = % change in quantity/ % change in price = 8/x = 2. Solve for x.
 
4. Richard Voith estimated the price elasticity of demand for round-trip rail fare to be 0.62. If fares rose by 30%, one would expect the quantity of round-trip tickets purchased to: 
A. rise by 18.6%
B. fall by 18.6%
C. rise by 48.4%
D. fall by 48.4%
Price elasticity of demand = % change in quantity/ % change in price = X/30 = .62. Solve for X.

 5. It has been estimated that the price elasticity of demand for attending baseball games is 0.23. Other things held constant, a 10 percent increase in attendance can be explained by a: 
A. 43.48% fall in the price of a ticket.
B. 43.48% rise in the price of a ticket.
C. 23% fall in the price of a ticket.
D. 23% rise in the price of a ticket.

Price elasticity of demand = % change in quantity/ % change in price = 10/X = 0.23. Solve for X.

 6. An elasticity of supply of 2.7 means that: 
A. supply is inelastic.
B. quantity supplied changes 2.7 units for each 1% change in price.
C. quantity supplied changes 2.7% for each 1% change in price.
D. price changes by 2.7% for each 1% change in quantity supplied.

Elasticity is the percentage change in quantity divided by the percentage change in price.

7. A marketing student observes that when the price of ice cream rises by 10%, the quantity of ice cream a supplier is willing to sells rises by 5%. The student correctly concludes that the elasticity of supply for ice cream is: 
A. .2.
B. .5.
C. 2.
D. 5.

Price elasticity of supply = % change in quantity/ % change in price = 5%/10% = .5.

 8. As the price of beach front cottages in Florida was raised from $400,000 to $500,000, their quantity supplied rose from 2,000 to 2,100. Rounding to the nearest tenth, the elasticity of supply of beach front cottages is: 
A. 0.4.
B. 0.2.
C. 1.0.
D. 4.6.

Elasticity = [(2,100 - 2,000)/2,050]/[(500,000 - 400,000)/450,000] = (100/2,050)/(100,000/450,000) = 0.2 (rounded).

 
9. As the price of tomatoes fell from $2.5 to $2, the quantity imported from Mexico fell from 1,800 tons to 900 tons. The elasticity of supply of tomatoes imported from Mexico is: 
A. 0.25.
B. 0.3.
C. 3.0.
D. 5.

Elasticity = [(1,800 - 900)/1,350]/[(2 - 2.5)/2.25] = (-900/1,350)/(-0.5/2.25) = 3.0. We state elasticity of demand as positive.

 10. Compute the approximate elasticity of demand from the following data:
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A. .87.
B. 1.15.
C. 1.5.
D. 5.0.

Elasticity = [(11.5 - 13.5)/12.5]/[(23 - 20)/21.5] = (-2/12.5)/(3/21.5) = -.16/.14 = -1.15. We state elasticity of demand as positive.
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11. Refer to the graph above. Calculate the approximate elasticity of demand for the line segment BD: 
A. 3
B. 2
C. ½
D. 3/2

Elasticity is [(9 - 3)/6]/[(0 - 12)/6] = -1/2. We state elasticity of demand as positive.
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 12. Refer to the graph above. The approximate elasticity of segment AD is: 
A. 3/4
B. 3
C. 4/3
D. 4

Elasticity is [(7 - 1)/4]/[(18 - 0)/9] = (3/2)/(2) = 3/4.

13. Refer to the graph above. The approximate elasticity of segment AC is: 
A. 1/3
B. 1/2
C. 2/3
D. 3/2

Elasticity is [(5 - 1)/3]/[(12 - 0)/6] = (4/3)/(2) = 2/3.

 14. Refer to the graph above. The approximate elasticity of segment AB is: 
A. 1/3
B. 1/2
C. 2/3
D. 3/2
Elasticity is [(3 - 1)/2]/[(6 - 0)/3] = (1)/(2) = 1/2.
15. If the supply of a product is inelastic, this implies that a given percentage change in price leads to: 
A. an equal percentage change in the quantity supplied.
B. a larger percentage change in the quantity supplied.
C. a smaller percentage change in the quantity supplied.
D. no percentage change in the quantity supplied.

Inelastic supply means that the percentage change in quantity is less than the percentage change in price.

 
16. If the percentage increase in the quantity supplied is greater than the percentage increase in the price, the supply: 
A. is elastic.
B. is inelastic.
C. is unit elastic.
D. is perfectly elastic.

See definition of elastic.

17. If the percentage increase in the quantity supplied is smaller than the percentage increase in the price, the supply: 
A. is elastic.
B. is inelastic.
C. is unit elastic.
D. is perfectly elastic.

See definition of inelastic.

 18. If quantity demanded does not change when the price changes, the demand: 
A. is elastic.
B. is inelastic.
C. has unit elasticity.
D. is perfectly inelastic.

See definition of perfectly inelastic.

 19. If the quantity of houses supplied in an area increases 10% when the price goes up 25%, the supply: 
A. is elastic.
B. is inelastic.
C. is unit elastic.
D. is perfectly elastic.

Elasticity is 10/25 = .4. Since this is less than one, supply is inelastic.

20. Along a straight-line demand curve, elasticity: 
A. rises as price rises.
B. declines as price rises.
C. is equal to slope.
D. is always zero.

Elasticity is infinite at the price axis intercept and declines to zero at the quantity axis intercept.

21. If the supply curve intersects the vertical (price) axis, the supply curve has an elasticity: 
A. less than one.
B. equal to one.
C. greater than one.
D. that is indeterminate.

Supply curves that intersect the price axis are elastic (Elasticity > 1).

 
22. A supply curve that intersects the horizontal (quantity) axis is: 
A. inelastic.
B. elastic.
C. perfectly elastic.
D. unit elastic.

Supply curves that intersect the horizontal axis are inelastic.

 
23. If elasticity of demand is greater than one, 
A. a rise in price lowers total revenue.
B. a decline in price will not change total revenue.
C. a rise in price increases total revenue.
D. a decline in price lowers total revenue.

If elasticity of demand is greater than one, a rise in price lowers total revenue. If elasticity of demand is less than one, a rise in price increases total revenue.

24. If elasticity of demand is less than one, 
A. a rise in price decreases total revenue.
B. a decline in price increases total revenue.
C. a decline in price will not change total revenue.
D. a rise in price increases total revenue.

If elasticity of demand is greater than one, a rise in price lowers total revenue. If elasticity of demand is less than one, a rise in price increases total revenue.

25. GreenTree Corporation sells live Christmas trees. It observes that when it increases the price of Christmas trees by 10%, revenue rises by 25%. The demand for Christmas trees is: 
A. inelastic.
B. elastic.
C. unit elastic.
D. perfectly elastic.

If revenue rises when price rises, demand must be inelastic.
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26. Refer to the graph above. When price rises from $10 to $30, 
A. lost revenue is represented by areas B and C while gained revenue is represented by area F.
B. gained revenue is represented by areas B and C while lost revenue is represented by area F.
C. lost revenue is represented by areas B, C, and D, while gained revenue is represented by area A.
D. gained revenue is represented by areas B, C and D while lost revenue is represented by area A.

Revenue at price $40 is B, C, D, and E. Revenue at price of $10 is areas D, E, and F.

 
27. Refer to the graph above. Area F is: 
A. smaller than areas B and C, because demand is elastic between $10 and $30.
B. larger than areas B and C, because demand is elastic between $10 and $30.
C. larger than areas B and C, because demand is inelastic between $10 and $30.
D. smaller than areas B and C, because demand is inelastic between $10 and $30.

Since at $30, the demand is unit elastic, at prices below $30, demand is inelastic and the revenue gained is larger than revenue lost when price rises from $10 to $30.
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28. Refer to the graph above. Between points C and E demand is: 
A. inelastic.
B. elastic.
C. unit elastic.
D. perfectly elastic.

Since revenue remains constant, demand must be unit elastic.
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29. Refer to the graph above. Total revenue is at a maximum when price is: 
A. $2.
B. $4.
C. $6.
D. $8.

Total revenue is maximized where demand is unit elastic.

30. Which of the following is an example of price discrimination? 
A. Some retailers hire fewer men than women to sell women's perfume on the shop floor.
B. Grocery stores sell 12 oz. bottles of coke for less than they sell liter bottles.
C. When price of land rises, landowners do not increase the quantity of land supplied.
D. Peak-fare prices are higher than non-peak-fare prices.

The fact that supply of land is inelastic is not an example of price discrimination. Peak-fare prices is price discrimination because it is charging a different price to a group of consumers who are easily identifiable.

31. Income elasticity is defined as the: 
A. change in demand divided by the change in income.
B. percentage change in demand divided by the percentage change in income.
C. change in income divided by the change in demand.
D. percentage change in income divided by the percentage change in demand.

See definition of income elasticity.

32. Cross-price elasticity of demand is defined as the: 
A. percentage change in quantity demanded divided by percentage change in the price of the same good.
B. percentage change in demand divided by percentage change in the price of another good.
C. change in the price of another good divided by the change in quantity demanded.
D. percentage change in the price of another good divided by the percentage change in quantity demanded.

See the definition of cross-price elasticity of demand.

33. For normal goods, income elasticity is: 
A. greater than 0.
B. greater than 1.
C. less than 0.
D. equal to 1.

See the definition of a normal good.

34. For luxuries, income elasticity is: 
A. greater than 0.
B. greater than 1.
C. less than 0.
D. equal to 1.

See definition of luxuries.

35. For necessities, income elasticity is any value: 
A. greater than 0.
B. greater than 1.
C. less than 0.
D. between 0 and 1.

See definition of necessities.

36. For complements: 
A. cross price elasticity of demand is negative.
B. cross price elasticity of demand is positive.
C. price elasticity of income is negative.
D. price elasticity of income is positive.

See definition of complements.

37. For substitutes: 
A. cross price elasticity of demand can be a negative value.
B. cross price elasticity of demand can be any positive value.
C. cross price elasticity of demand can be any value less than one.
D. price elasticity of demand can be any positive value.

See definition of substitutes.

38. If an economist observed that higher hot dog prices lead to an increase in the demand for chili, she would most likely conclude: 
A. chili and hot dogs are complements.
B. chili and hot dogs are substitutes.
C. chili and hot dogs are both inferior goods
D. chili and hot dogs are both normal goods.

If the price of a good rises, the demand for its substitute will rise because people will substitute the second good for the good whose price rose.

39. If milk and cookies are complements, and the price of cookies rises, then we would expect to see: 
A. an increase in the demand for milk.
B. a decrease in the demand for milk.
C. an increase in the quantity demanded for milk but no change in demand.
D. a decrease in the quantity demanded for milk but no change in demand.
If the price of cookies rises, the quantity of cookies demanded will fall. People will demand less milk to go with their cookies.

40. If pizzas and quesadillas are substitutes, and the price of pizzas decreases, then we would expect to see: 
A. an increase in the demand for quesadillas.
B. a decrease in the demand for quesadillas.
C. an increase in the quantity demanded for quesadillas.
D. a decrease in the quantity demanded for quesadillas.

If the price of pizza declines, the quantity of pizza demanded will rise. Quesadilla-eaters see that pizza is cheaper and switch to buying pizza. The demand for quesadillas shifts to the left because the amount purchased falls at every price.
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